
N = 85
 85 circles in a circle

radius =   0.098395063693
ratio  =  10.163111465877

density  = 0.822935027521
contacts = 180
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N = 86
 86 circles in a circle

radius =   0.097099624005
ratio  =  10.298701053110

density  = 0.810836980449
contacts = 158
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N = 87
 87 circles in a circle

radius =   0.096495211836
ratio  =  10.363208505078

density  = 0.810085353936
contacts = 160
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N = 88
 88 circles in a circle

radius =   0.095855792772
ratio  =  10.432337692732

density  = 0.808573304696
contacts = 168
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N = 89
 89 circles in a circle

radius =   0.095233634544
ratio  =  10.500491814574

density  = 0.807180618211
contacts = 170
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N = 90
 90 circles in a circle

radius =   0.094822059587
ratio  =  10.546069177954

density  = 0.809210068588
contacts = 172
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N = 91
 91 circles in a circle

radius =   0.094636278506
ratio  =  10.566772233506

density  = 0.814998294062
contacts = 210
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N = 92
 92 circles in a circle

radius =   0.093592245755
ratio  =  10.684645847916

density  = 0.805874778817
contacts = 170
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N = 93
 93 circles in a circle

radius =   0.093167534622
ratio  =  10.733352600260

density  = 0.807257624210
contacts = 172
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N = 94
 94 circles in a circle

radius =   0.092781315284
ratio  =  10.778032160252

density  = 0.809187011786
contacts = 179
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N = 95
 95 circles in a circle

radius =   0.092249177761
ratio  =  10.840205021597

density  = 0.808441525765
contacts = 173
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N = 96
 96 circles in a circle

radius =   0.091884716483
ratio  =  10.883202759722

density  = 0.810508907817
contacts = 189
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